

2007

Estimates of Positive Solutions to a Boundary Value Problem for the Beam Equation

Bo Yang

Kennesaw State University, byang@kennesaw.edu

Follow this and additional works at: <http://digitalcommons.kennesaw.edu/facpubs>



Part of the [Applied Mathematics Commons](#), and the [Mathematics Commons](#)

Recommended Citation

Yang, B. (2007). Estimates of positive solutions to a boundary value problem for the beam equation. *Communications in Mathematical Analysis*, 2(1), 13-21.

This Article is brought to you for free and open access by DigitalCommons@Kennesaw State University. It has been accepted for inclusion in Faculty Publications by an authorized administrator of DigitalCommons@Kennesaw State University. For more information, please contact digitalcommons@kennesaw.edu.

ESTIMATES OF POSITIVE SOLUTIONS TO A BOUNDARY VALUE PROBLEM FOR THE BEAM EQUATION

BO YANG*

Department of Mathematics and Statistics,
Kennesaw State University, Kennesaw, GA 30144, USA

(Communicated by Gaston M. N'Guérékata)

Abstract

We consider a two-point boundary value problem for the fourth order beam equation. New upper and lower estimates of positive solutions of the problem are obtained.

AMS Subject Classification: 34B15, 34B18.

Keywords: Positive solution, boundary value problem, beam equation, upper and lower estimates.

1 Introduction

This paper discusses the fourth order boundary value problem

$$u''''(t) = f(t, u(t)), \quad 0 < t < 1, \quad (1.1)$$

$$u(0) = u'(0) = u'(1) = u(1) = 0. \quad (1.2)$$

The equation (1.1) is often referred to as the beam equation. It models the deflection or bending of an elastic beam under a certain force. The conditions (1.2) mean that the beam is embedded at both ends $t = 0$ and $t = 1$.

Fourth order two point boundary value problems have received a lot of attention in the literature due to their many applications in elasticity. For example, the problem (1.1)-(1.2) was investigated by Korman [3], Kosmatov [4], and Yao [7]. In 2005, Ma and Tisdell [5] studied a special case of the problem (1.1)-(1.2) in which $f(t, u) = p(t)u^\lambda$ with $\lambda \in (0, 1)$. The Green's function $G : [0, 1] \times [0, 1] \rightarrow [0, \infty)$ for the problem (1.1)-(1.2) is given by

$$G(t, s) = \begin{cases} (1/6)t^2(1-s)^2(3s-t-2ts), & \text{if } 0 \leq t \leq s \leq 1, \\ (1/6)s^2(1-t)^2(3t-s-2st), & \text{if } 0 \leq s \leq t \leq 1. \end{cases}$$

*E-mail: byang@kennesaw.edu

Then the problem (1.1)–(1.2) is equivalent to the integral equation

$$u(t) = \int_0^1 G(t, s) f(s, u(s)) ds, \quad 0 \leq t \leq 1. \quad (1.3)$$

It is easy to see that

$$G(t, s) > 0 \quad \text{for } (t, s) \in (0, 1) \times (0, 1). \quad (1.4)$$

Throughout the paper we assume that

(H) $f : (0, 1) \times [0, \infty) \rightarrow [0, \infty)$ is a continuous function.

The purpose of this paper is to prove a type of upper and lower estimates of positive solutions for the problem (1.1)–(1.2). In this paper by a positive solution to the problem (1.1)–(1.2), we mean a function $u \in C^3[0, 1] \cap C^4(0, 1)$ which solves the equation (1.1) on $(0, 1)$, satisfies (1.2), and is such that $u(t) > 0$ for $0 < t < 1$. Note that $C^3[0, 1] \cap C^4(0, 1)$ is a wider class than $C^4[0, 1]$.

2 Estimates of Positive Solutions

In order to give the new set of upper and lower estimates of positive solutions for the problem (1.1)–(1.2), we define the functions $a : [0, 1] \rightarrow [0, 1]$ and $b : [0, 1] \rightarrow [0, 1]$ by

$$a(t) = \begin{cases} (27/4)t^2(1-t), & \text{if } 0 \leq t \leq 1/2, \\ (27/4)t(1-t)^2, & \text{if } 1/2 \leq t \leq 1, \end{cases}$$

$$b(t) = \begin{cases} (27/4)t(1-t)^2, & \text{if } 0 \leq t \leq 1/3, \\ 1, & \text{if } 1/3 \leq t \leq 2/3, \\ (27/4)t^2(1-t), & \text{if } 2/3 \leq t \leq 1. \end{cases}$$

It's easy to see that both $a(t)$ and $b(t)$ are continuous functions on $[0, 1]$, and

$$b(t) \geq a(t) \geq \frac{27}{8} \min\{t^2, (1-t)^2\}, \quad 0 \leq t \leq 1. \quad (2.1)$$

Note that the expressions for $a(t)$ and $b(t)$ contain the fraction $27/4$, whose purpose is to ensure that $\max_{0 \leq t \leq 1} b(t) = 1$. In this paper, we let the Banach space $X = C[0, 1]$ be equipped with the supremum norm

$$\|v\| = \max_{0 \leq t \leq 1} |v(t)| \quad \text{for all } v \in X.$$

We begin with several technical lemmas.

Lemma 2.1. *If $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2) and*

$$u''''(t) \geq 0 \quad \text{for } 0 < t < 1, \quad (2.2)$$

then $u(t) \geq 0$ for $0 \leq t \leq 1$.

Proof. By mean value theorem, because $u(0) = u(1) = 0$, there exists $t_1 \in (0, 1)$ such that $u'(t_1) = 0$. Since $u'(0) = u'(t_1) = u'(1) = 0$, there exist $t_2 \in (0, t_1)$ and $s_2 \in (t_1, 1)$ such that $u''(t_2) = u''(s_2) = 0$. We see from (2.2) that $u''(t)$ is concave upward on the interval $[0, 1]$. Therefore,

$$u''(t) \geq 0 \text{ on } (0, t_2), \quad u''(t) \leq 0 \text{ on } (t_2, s_2), \quad u''(t) \geq 0 \text{ on } (s_2, 1).$$

Since $u(0) = u'(0) = 0$, and $u(t)$ is concave upward on $(0, t_2)$, we have $u(t) \geq 0$ for $0 \leq t \leq t_2$. Similarly, we have $u(t) \geq 0$ for $s_2 \leq t \leq 1$. Since $u(t_2) \geq 0$, $u(s_2) \geq 0$, and since $u(t)$ is concave downward on (t_2, s_2) , we have $u(t) \geq 0$ for $t_2 \leq t \leq s_2$. The proof is complete. ■

Lemma 2.2. *Suppose that $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2) and (2.2). If $u(r) > 0$ for some $r \in (0, 1)$, then*

- (i) $u(t) > 0$ for $0 < t < 1$;
- (ii) there is a unique $c \in (0, 1)$ such that $u'(c) = 0$;
- (iii) $u(c) = \|u\|$.

Proof. By Lemma 2.1, we have $u(t) \geq 0$ for $0 \leq t \leq 1$. Note that (2.2) implies that u'' is concave upward on $[0, 1]$.

By the mean value theorem, since $u(0) = 0 < u(r)$ and $u(r) > 0 = u(1)$, there exist $t_1 \in (0, r)$ and $s_1 \in (r, 1)$ such that $u'(t_1) > 0$ and $u'(s_1) < 0$. Since $u'(0) < u'(t_1)$, $u'(t_1) > u'(s_1)$, and $u'(s_1) < u'(1)$, there exist $t_2 \in (0, t_1)$, $\beta \in (t_1, s_1)$, and $s_2 \in (s_1, 1)$ such that $u''(t_2) > 0$, $u''(\beta) < 0$, and $u''(s_2) < 0$.

Because u'' is concave upward, there exist $\alpha_1 \in (t_2, \beta)$ and $\alpha_2 \in (\beta, s_2)$ such that $u''(\alpha_1) = u''(\alpha_2) = 0$, and

$$u''(t) > 0 \quad \text{on} \quad [0, \alpha_1), \quad u''(t) < 0 \quad \text{on} \quad (\alpha_1, \alpha_2), \quad u''(t) > 0 \quad \text{on} \quad (\alpha_2, 1].$$

Since $u'(0) = u'(1) = 0$, there exists $c \in (0, 1)$ such that $u'(c) = 0$. It is easy to see that $c \in (\alpha_1, \alpha_2)$, $u''(c) < 0$, and

$$u'(t) > 0 \quad \text{for} \quad 0 < t < c, \quad u'(t) < 0 \quad \text{for} \quad c < t < 1. \quad (2.3)$$

Thus we proved that c is unique. Combining (2.3) with the fact that $u(0) = u(1) = 0$, we have $u(t) > 0$ for $0 < t < 1$, and $u(c) = \max_{0 \leq t \leq 1} u(t)$. This completes the proof of the lemma. ■

One of the implications of Lemma 2.2 is that if $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2) and (2.2), then either $u(t) \equiv 0$ on $[0, 1]$, or $u(t) > 0$ for $0 < t < 1$.

Lemma 2.3. *Let $\gamma > 0$ be a real number. Suppose that $w \in C[0, \gamma]$, $w(\gamma) = 0$, and $w(t)$ is concave downward. If*

$$\int_0^\gamma w(t) dt = 0, \quad (2.4)$$

then

$$\int_0^\gamma t w(t) dt \geq 0.$$

Proof. In view of (2.4), there exists $\theta \in (0, \gamma)$ such that $w(\theta) = 0$. Because $w(t)$ is concave downward, and because $u(\theta) = u(\gamma) = 0$, we have $w(t) \leq 0$ on $(0, \theta)$ and $w(t) \geq 0$ on (θ, γ) . It follows that $(t - \theta)w(t) \geq 0$ for $0 \leq t \leq \gamma$, which implies that

$$\int_0^\gamma (t - \theta)w(t)dt \geq 0.$$

Therefore,

$$\int_0^\gamma tw(t)dt \geq \int_0^\gamma \theta w(t)dt = 0.$$

The proof is complete. ■

Lemma 2.4. *Suppose that $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2) and (2.2), and*

$$u(t) > 0 \quad \text{for } 0 < t < 1. \quad (2.5)$$

Let c be the unique zero of u' in $(0, 1)$, and let $p(t) = -u''(t)$, $0 \leq t \leq 1$. Then

$$\int_0^c sp(s)ds = \int_c^1 (1-s)p(s)ds. \quad (2.6)$$

Proof. It is obvious that

$$\begin{aligned} u(c) &= u(c) - u(0) = \int_0^c u'(t)dt = \int_0^c \int_t^c (-u''(s))dsdt \\ &= \int_0^c \int_t^c p(s)dsdt = \int_0^c sp(s)ds, \end{aligned}$$

and

$$\begin{aligned} u(c) &= u(c) - u(1) = -\int_c^1 u'(t)dt = -\int_c^1 \int_c^t u''(s)dsdt \\ &= \int_c^1 \int_c^t p(s)dsdt = \int_c^1 (1-s)p(s)ds, \end{aligned}$$

from which (2.6) follows immediately. The proof is complete. ■

Lemma 2.5. *Suppose that $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2), (2.2), and (2.5). Let c be the unique zero of u' in $(0, 1)$. Then $1/3 < c < 2/3$.*

Proof. We let $p(t) = -u''(t)$, $0 \leq t \leq 1$. From the proof of Lemma 2.2, we see that $p(c) > 0$ and $p(1) < 0$.

Claim. $p'(c) \leq 2p(c)/c$.

Proof of the claim. Assume the contrary that $p'(c) > 2p(c)/c$. Then, because $p(t)$ is concave downward, we have

$$p'(t) \geq p'(c) > 2p(c)/c \quad \text{for } t \in [0, c).$$

Therefore, for each $t \in [0, c)$, we have

$$p(t) = p(c) - \int_t^c p'(s) ds < p(c) - 2(c-t)p(c)/c = (2t/c - 1)p(c),$$

which implies that

$$\int_0^c p(t)dt < \int_0^c (2t/c - 1)p(c)dt = 0.$$

On the other hand, we have

$$\int_0^c p(t)dt = - \int_0^c u''(t)dt = -u'(c) + u'(0) = 0, \quad (2.7)$$

which is a contradiction. The proof of the claim is complete.

Let $w(t) = p(t) - (2t/c - 1)p(c)$, $0 \leq t \leq c$. Then $w(t)$ is concave downward, $w(c) = 0$, and

$$\int_0^c w(t) dt = 0.$$

By Lemma 2.3, the last equation implies that

$$\int_0^c w(t)t dt \geq 0.$$

Therefore,

$$\int_0^c tp(t)dt \geq \int_0^c t \cdot (2t/c - 1)p(c) dt = c^2 p(c)/6. \quad (2.8)$$

On the other hand, because $p'(c) \leq 2p(c)/c$, and because $p(t)$ is concave downward, we have

$$p'(t) \leq p'(c) \leq 2p(c)/c \text{ for } t \in (c, 1],$$

which implies that

$$p(t) \leq p(c) + \int_c^t 2p(c)c^{-1}ds = (2t/c - 1)p(c) \text{ for } t \in (c, 1]. \quad (2.9)$$

We see from the proof of Lemma 2.2 that $p(1) < 0$. By continuity, because $p(1) < 0 < p(c)$, there exists $\beta \in (c, 1)$ such that

$$p(t) < (2t/c - 1)p(c) \text{ for } \beta \leq t \leq 1. \quad (2.10)$$

In view of (2.9) and (2.10), we have

$$\int_c^1 (1-t)p(t) dt < \int_c^1 (1-t)(2t/c - 1)p(c)dt = (1/(3c) - 1/2 + c^2/6)p(c). \quad (2.11)$$

We see from (2.6), (2.8), and (2.11) that

$$1/(3c) - 1/2 + c^2/6 > c^2/6.$$

Simplifying, we get $c < 2/3$.

To show that $c > 1/3$, we let $v(t) = u(1-t)$, $0 \leq t \leq 1$. It is obvious that $v(0) = v'(0) = v'(1) = v(1) = 0$, $v(t) > 0$ for $0 < t < 1$, and

$$v''''(t) = u''''(1-t) \geq 0, \quad 0 < t < 1.$$

Since c is the unique zero of u' in $(0, 1)$, $1-c$ is the unique zero of v' in $(0, 1)$. From the early portion of the proof, we see that $1-c < 2/3$. It follows immediately that $c > 1/3$. The proof is complete. \blacksquare

Lemma 2.5 is an interesting result in its own right.

Lemma 2.6. *Suppose that $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2), (2.2), and (2.5). Let c be the unique zero of u' in $(0, 1)$. Then*

$$u(t) \geq (27/4)t^2(1-t)u(c) \quad \text{for } 0 \leq t \leq c.$$

Proof. If we define $h(t) = u(t) - (27/4)t^2(1-t)u(c)$, $0 \leq t \leq c$, then

$$h'(t) = u'(t) - (27/4)(2t - 3t^2)u(c), \quad h''(t) = u''(t) - (27/2)(1 - 3t)u(c),$$

$$h'''(t) = u'''(t) + (81/2)u(c),$$

$$h''''(t) = u''''(t) \geq 0, \quad 0 < t \leq c. \quad (2.12)$$

From the above equations it is easy to verify that

$$h(0) = 0, \quad h(c) > 0, \quad h'(0) = 0, \quad h'(c) < 0.$$

In verifying $h(c) > 0$ and $h'(c) < 0$, we used the fact that $1/3 < c < 2/3$. To prove the lemma, it suffices to show that $h(t) \geq 0$ for $0 \leq t \leq c$.

By Mean Value Theorem, because $h(0) = 0 < h(c)$, there exists $t_1 \in (0, c)$ such that $h'(t_1) > 0$. Because $h'(0) = 0 < h'(t_1)$ and $h'(t_1) > 0 > h'(c)$, there exist $t_2 \in (0, t_1)$ and $r_2 \in (t_1, c)$ such that $h''(t_2) > 0$ and $h''(r_2) < 0$. In view of (2.12), h'' is concave upward on $[0, c]$.

At this point, there are two possible cases:

Case I. $h''(c) \leq 0$. In this case, there exists $s_2 \in (t_2, r_2)$ such that

$$h''(t) > 0 \quad \text{for } 0 \leq t < s_2, \quad \text{and } h''(t) \leq 0 \quad \text{for } s_2 \leq t \leq c,$$

Because $h'(0) = 0 > h'(c)$, there exists $s_1 \in (t_1, c)$ such that

$$h'(t) > 0 \quad \text{for } 0 \leq t < s_1, \quad \text{and } h'(t) \leq 0 \quad \text{for } s_1 \leq t \leq c. \quad (2.13)$$

Since $u(0) = 0$ and $u(c) > 0$, we have $h(t) \geq 0$ for $0 \leq t \leq c$.

Case II. $h''(c) > 0$. In this case, there exist $s_2 \in (t_2, r_2)$ and $p_2 \in (r_2, c)$ such that

$$h''(t) > 0 \quad \text{on } (0, s_2), \quad h''(t) < 0 \quad \text{on } (s_2, p_2), \quad \text{and } h''(t) > 0 \quad \text{on } (p_2, c).$$

Because $h'(0) = 0 > h'(c)$, there exists $s_1 \in (t_1, c)$ such that (2.13) is true. Therefore, $h(t) \geq 0$ for $0 \leq t \leq c$.

In either case, we have $h(t) \geq 0$ for $0 \leq t \leq c$. The proof is complete. \blacksquare

Lemma 2.7. *If $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2), (2.2), and (2.5), then*

$$u(t) \leq b(t)\|u\| \quad \text{for } 0 \leq t \leq 1/3.$$

Proof. Let c be the unique zero of u' in $(0, 1)$. If we define

$$h(t) = b(t)\|u\| - u(t) = (27/4)t(1-t)^2u(c) - u(t), \quad 0 \leq t \leq 1/3,$$

then

$$h'(t) = (27/4)(1-4t+3t^2)u(c) - u'(t), \quad h''(t) = (27/2)(-2+3t)u(c) - u''(t),$$

$$h'''(t) = (81/2)u(c) - u'''(t),$$

$$h''''(t) = -u''''(t) \leq 0, \quad 0 < t \leq 1/3. \quad (2.14)$$

To prove the lemma, it suffices to show that $h(t) \geq 0$ for $0 \leq t \leq 1/3$. Note that $1/3 < c < 2/3$. We see from the proof of Lemma 2.2 that $u(1/3) < u(c)$, $u''(0) > 0$, and $u'(1/3) > 0$. It is easy to check that

$$h(0) = 0, \quad h(1/3) > 0, \quad h'(0) > 0, \quad h'(1/3) < 0, \quad h''(0) < 0.$$

Claim. If $h''(c) \leq 0$, then $h''(t) \leq 0$ for $0 \leq t \leq c$.

Proof of Claim. Let $p(t) = -u''(t)$, $0 \leq t \leq 1$. Assume the contrary that $h''(\beta) > 0$ for some $\beta \in (0, c)$. Because $h''(\beta) > 0$ and $h''(c) \leq 0$, we have

$$p(c) \leq (27/2)(2-3c)u(c), \quad p(\beta) > (27/2)(2-3\beta)u(c).$$

In view of (2.2), $p(t)$ is concave downward. Therefore, for $c < t < 1$, we have

$$p(t) \leq p(c) + \frac{p(c) - p(\beta)}{c - \beta}(t - c) < p(c) - (81/2)(t - c)u(c) \leq (27/2)(2 - 3t)u(c).$$

It follows that

$$\int_c^1 p(t) dt < (27/2) \int_c^1 (2 - 3t)u(c) dt = (27/4)(1 - 3c)(1 - c)u(c) < 0.$$

On the other hand,

$$\int_c^1 p(t) dt = - \int_c^1 u''(t) dt = u'(c) - u'(1) = 0,$$

a contradiction. The proof of the Claim is complete.

At this point, there are two possible cases:

Case I. $h''(t) \leq 0$ on $[0, 1/3]$. In this case, h is concave downward on $[0, 1/3]$. Since $h(0) = 0$ and $h(1/3) > 0$, we have $h(t) \geq 0$ for $0 \leq t \leq 1/3$.

Case II. $h''(\gamma) > 0$ for some $\gamma \in (0, 1/3)$. In this case, by the Claim, it must be true that $h''(c) > 0$. Because $h''(0) < 0$, and h'' is concave downward on $(0, 1)$, there exists $\alpha \in (0, 1/3)$ such that

$$h''(t) \leq 0 \quad \text{on } [0, \alpha], \quad h''(t) \geq 0 \quad \text{on } [\alpha, 1/3].$$

Since $u'(0) > 0$ and $u'(1/3) < 0$, there exists $\delta \in (0, 1/3)$ such that

$$h'(t) \geq 0 \quad \text{on} \quad [0, \delta], \quad h'(t) \leq 0 \quad \text{on} \quad [\delta, 1/3].$$

Since $h(0) = 0$ and $h(1/3) > 0$, we have $h(t) \geq 0$ for $0 \leq t \leq c$.

In either case, we have $h(t) \geq 0$ for $0 \leq t \leq c$. The proof is complete. \blacksquare

Theorem 2.8. *If $u \in C^3[0, 1] \cap C^4(0, 1)$ satisfies (1.2), (2.2), and (2.5), then*

$$a(t)\|u\| \leq u(t) \leq b(t)\|u\| \quad \text{for} \quad 0 \leq t \leq 1. \quad (2.15)$$

In particular, if $u(t)$ is a positive solution to the problem (1.1)–(1.2), then it satisfies (2.15).

Proof. Let c be the unique zero of u' in $(0, 1)$. First, we note that

$$a(t) = \min \left\{ (27/4)t^2(1-t), (27/4)t(1-t)^2 \right\}, \quad 0 \leq t \leq 1.$$

From Lemma 2.6 we see that $u(t) \geq a(t)u(c)$ for $0 \leq t \leq c$. If we let $v(t) = u(1-t)$, $0 \leq t \leq 1$, then $1-c$ is the unique zero of v' in $(0, 1)$. By applying Lemma 2.6 to $v(t)$, we get $v(t) \geq a(t)v(1-c)$ for $0 \leq t \leq 1-c$, which implies that $u(t) \geq a(t)u(c)$ for $c \leq t \leq 1$. Thus we proved the left half of (2.15).

From Lemma 2.7 we see that $u(t) \leq b(t)u(c)$ for $0 \leq t \leq 1/3$. By applying Lemma 2.7 to $v(t) = u(1-t)$ we get $u(t) \leq b(t)u(c)$ for $2/3 \leq t \leq 1$. And it is obvious that $u(t) \leq \|u\| = b(t)\|u\|$ for $1/3 \leq t \leq 2/3$. Thus we proved the right half of (2.15). The proof is complete. \blacksquare

Remark 2.9. Theorem 2.8 provides not only a new upper estimate but also a new lower estimate of positive solutions for the problem (1.1)–(1.2).

In 2004, Yao [7] studied the problem (1.1)–(1.2) and used the following lower estimate of positive solutions to the problem (1.1)–(1.2) to define a positive cone K of X :

$$u(t) \geq \frac{2}{3} \min\{t^2, (1-t)^2\}\|u\| \quad \text{for} \quad 0 \leq t \leq 1. \quad (2.16)$$

Now this estimate (2.16) is improved and implemented by Theorem 2.8. Actually, in view of (2.1), we have

$$\frac{a(t)}{(2/3) \min\{t^2, (1-t)^2\}} \geq \frac{81}{16} > 5.$$

Therefore, our lower estimate $a(t)\|u\|$ improves the estimate (2.16) significantly. No upper estimate of positive solutions for the problem (1.1)–(1.2) has been obtained in the literature.

Remark 2.10. Note that it is possible that the problem (1.1)–(1.2) does not have a positive solution. Actually the upper and lower estimates given in Theorem 2.8 can help us find sufficient conditions for existence and nonexistence of positive solutions of the boundary value problem. The reader is referred to [1, 6] for some works in this line.

Example 2.11. Consider the boundary value problem

$$u''''(t) = \frac{24}{t(1-t)}\sqrt{u(t)}, \quad 0 < t < 1, \quad (2.17)$$

$$u(0) = u'(0) = u'(1) = u(1) = 0. \quad (2.18)$$

By Theorem 1.1 of [5], the problem (2.17)–(2.18) has at least one positive solution in $C^3[0, 1] \cap C^4(0, 1)$. If we let

$$u^*(t) = t^2(1-t)^2, \quad 0 \leq t \leq 1,$$

then $u^* \in C^3[0, 1] \cap C^4(0, 1)$ and $u^*(t)$ is a positive solution to the problem (2.17)–(2.18). According to Theorem 2.8, it holds that

$$a(t) \leq u^*(t)/\|u^*\| \leq b(t), \quad 0 \leq t \leq 1.$$

It is easy to see that $\|u^*\| = 1/16$. If we draw the graphs of $a(t)$, $b(t)$, and $u^*(t)/\|u^*\|$, we will see that the graph of $u^*(t)/\|u^*\|$ does lie between those of $a(t)$ and $b(t)$.

Acknowledgment

The author is grateful to the anonymous referee for his/her valuable comments and suggestions.

References

- [1] J. R. Graef and B. Yang, On a nonlinear boundary value problem for fourth order equations, *Appl. Anal.*, **72**(3–4), pp. 439–448, 1999.
- [2] C. P. Gupta, Existence and uniqueness theorems for the bending of an elastic beam equation, *Appl. Anal.*, **26**(4), pp. 289–304, 1988.
- [3] P. Korman, Uniqueness and exact multiplicity of solutions for a class of fourth order semi-linear problems, *Proc. Roy. Soc. Edinburgh Sect. A*, **134**(1), pp. 179–190, 2004.
- [4] N. Kosmatov, Countably many solutions of a fourth order boundary value problem, *Electronic J. of Qualitative Theory of Differential Equations*, No. 12, pp. 1–15, 2004.
- [5] R. Ma and C.C. Tisdell, Positive solutions of singular sublinear fourth-order boundary value problems, *Appl. Anal.*, **84**(12), pp. 1199–1220, 2005.
- [6] B. Yang, Positive solutions for the beam equation under certain boundary conditions, *Electronic J. of Differential Equations*, Vol. 2005, No. 78, pp. 1–8, 2005.
- [7] Q. Yao, Positive solutions for eigenvalue problems of fourth-order elastic beam equations, *Appl. Math. Lett.*, **17**, pp. 237–243, 2004.

Copyright of *Communications in Mathematical Analysis* is the property of Research India Publications and its content may not be copied or emailed to multiple sites or posted to a listserv without the copyright holder's express written permission. However, users may print, download, or email articles for individual use.